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B.Com. (Part-1) EXAMINATION, 2022
(New Course)
(Foundation Course)
Paper First
HINDI LANGUAGE

Time : Three Hours] [Maximum Marks:75
[Minimum Pass Marks : 26]
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B.Com. (Part |) Examination, 2022
(NewlQOld Course)

Foundation Course
PAPER SECOND
English Language

Time : Three Hours|

Unit -1

{I): Answer any five of the following questions-

Total Printed Pages- 8

[Maximum Marks: 75
[Minimum Pass Marks 26

15

1. How were the arts integral to life in India’s pas?

2. What is the most significant quality of Indian

civilization?

3. Whatwas the Vedic Aryans’ atfitude to life and death?

4. Why are actions necessary?

P.T.O.

10.

(A)

[2]

Who were called the exiremists?

What sort of platform was provided by the Indian
Mational Congress?

What did Gandhi exhort people to do when
addressed them on the way to Dandi?

What is the danger when a country drafts a
constitution after a revolution?

How does communism succeed?

How many duties are enumerated in the Indian
Constitution?

Unit-l

Read the following passage and answer the given
questions. 5

The brown bears live inwvery cold climates, especially
the north-westem and central Himalayas and Bhutan.
Emerging from their winter sleep in the spring, they
follow the melting snows upto their perpetual level.
Atthis season and inthe earty summer they graze
like cattle onthe newhy grown grass and spend much
of theirtime turning over stones to look forinsects or
hunting voles and marmaots, which they big out of their
burrows._ It is a time when food is not plentiful and

F-3002



(3]

[4]

even carrion may be eaten. When summer has set (B) Give antonyms of the following words (any five). 5

in individual take to Killing sheep, goats and ponies,
which are then broughtto graze. Laterin summer or
early autumn the bears come down to the lower
reaches. Itis the fruities season when berries and

Wide, Denial, Applaud, Foverty, Knowledge,
Perfection, anish, Arrest.

weld fruits are to be had in the forests, apricots, (C) Give synonyms of the following words (anyfive). 5

peaches, apples, mulberries and walnuts in the
orchards and buck wheat in the maize fields. Mast

of these fruits are taken from the ground. Much of Unique.
their diet at this time is limited to grass roots and
tubers. (D) Make nouns from the following verbs (any five);
Questions : ,
(i) Deny
(iy Give a suitable title for the passage.
- {ii} Accept
(i) Inwhattwoways dothe brown bears spend
theirin early summer? (i) Rely
{iii} Where do the brown bears live?
(W) Teach
()  During the fruiting season what is taken as
food by the bears? (v} Advise
(v) Give the words from the passage which o
means: (wiy Dismiss
{a) Fruit garden (vii) Refresh

(b) Coming out

F-3002 PT.0. F-3002

Disease, Honest, Permit, Alter, Employ, Calamity,

5



[5]

Unit-ll

Write a paragraph on any one of the following: 10

(1
(2)
(3)
(4)

() {A)

(B)

F- 3002

The Hindu Trinity
Anorymity of Indian Art
Arts and Indian Life
Hindu Homes and Art
UnitdVv

Write a letter to a friend who has had a road
accident, wishing him speedy recovery. 5

OR

Write a letter to your father asking his
permission to go for a college picnic.

Write a letter to the Mayor of your city seeking
a solution to the problem of water logging in
your area. 5

OR

Write a leftter to the Director of Education,
applying for appointment as teacher in the
educational service.

P.T.O.

[E]

Unit-v

Do as directed: (any 20) 20

(A} Add a, an, the, some or any.

(1)

F-3002

Sri Lanka is island.
sun shines brighthy.
There is milk leftin the glass.
| don't have information about

wour accident.

He anly one book of grammar.
(Supply correctform of 'nave’)

My nephew here nextweek.
(Supply the carrect form of ‘arrive’)

Wy grandfather was sewventy five when he

(Use the correct form of the verb 'die’)

Wy bed is not very comfartable. Your bed is

(Use the comparative degree of the underined
ward)



(71 [B]

(B) Complete the sentence using correct form of (19) Dovyoumindifl close the window.

Tensk: (Rewrite the sentence using the ‘Gerund’)

(9} RngInEal ey (20) Youteach.Dowyou enjoyit?

(10) Dipu(read) a novel now. (Combine the sentences using ‘Gerund’)

{11} She (study) engineering forthe lastfour

L (21) | hurried. | didn'twantto be late.

fie) “nangeihevpLIe.: (Combine the sentence using ‘So that)

Sl Rl SRl ETER U gHIER L T (D) Rewrite the following sentences in Reported

(13) Shewas dismissed from service. Speech.
(14) We refused them admission. {22) He said, "l will be late ”
{15) He was willing to agree my (23) "Whichway did she go?" asked the young
proposal. man.
(Add a suitable preposition) (E) Rewrite using “Self” form.
{18) You can phong me 2421028. (24) | have finished this task all
(Add suitable prepaosition) (25) | saw in the mirror.
(17) You should apply the secretary.
(Add a suitable preposition)

(18) The soup is very hot. | can't drink it.

(Rewrite the sentence usingtoo... ... ..to)

F-3002 PT.0. F-3002
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B.Com. (Part - 1) Examination, 2022
(New Course)
(Group -1)
Paper First
FINANCIALACCOUNTING

Time : Three Hours] [ aximum Marks: 73

iz ;. wit oe weel & 3R 5w wedie 5o 9 v e
&1 ifard 21wt wesl & i aw e )

Note: Attempt all the five questions. One question
from each unit is compulsory. All questions
carry equal marks.

P.T.0.

(2]

BT - 1/Unit - 1
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ster,21 fagrdt @& 9 g gam 3,500
aiter,25 AW § WIE EE ST |9 5 e gl
Te U 3 U @ Wl @ W 6% 11,500
siter 28 Frmfafes sgeet & fae &5 & -
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Enterthe following transactions into double columnar cash
book (Marration are not required)

2021
April 1,
April 2
April B
April 9
April 12
April 17
April 21

April 25

April 28

April 30

F - 3003

Capital invested in business
COpened current Account and
deposited into the Bank

Cheque recewed from Bihari

and deposited into Bank

Goods purchased ¥ 3 400 plus
CGST and SGST @ 9% each.
Cash Sales %1400, plus CGST

and SGST @ 9% each.
Deposited into Bank

Bihari's Cheque was dishonoured

Foods purchased from Shyma plus
CGST and SGST @ 6% each

Withdrew from Bank for the

following purposes:

() Forpersonaluse 5,000
(i)  Foroffice Expenses 6,000

Faid to petty cashier

T

150,000

80,000

3500

8000
3500

11500

11,000
1,000

P.T.0.

. T GEE @ qRad!

(4]

Fe@aOR
Frfefiaa & wremse: (@ - &)
(i) e & I
. E[E ﬁa?mﬂﬂmﬂﬁaﬁlﬂﬁﬁ:ﬂ ) & ﬁag'ﬂﬁmﬂ
(iii) TSI T UE HH &g H 3R
Explain the following: (any two) -
() Branchesof accounting

(i)  Rulesof Debit and Credit of accounts to the mod-
ern method arAmerican approach.

(i) Difference between capital expenditure and rev-
enue expenditure

BETE - 2/Unit - 2

¥ fore e Frafefiaa gt vd
FfcrNad GEFT A 31 WIE, 2022 ST deve (TET g
#ar S5

WRAWES W 46,300 HU 71,25,900
famg $2,77,700 &ER 7 53,000
BN 752,800 wfwx 210,000
RS =d 270,000 Z 75,000
Rl 99,300 3MEXT T 27,200
W =T 73,200 THs 730,100

F-3003
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mﬁﬁﬁww-
() faftr |9 & 4,600 T &1 A IUR SET SHH
HIS o T8l foar |

(i) fawa qeas @1 dn 2,700 T 3ifée e
(iii) g YEIE B GNT 3,800 T HH TN T

Following balances and additional informations have
been taken from the books of Kalyani Traders pre-
pare Trial Balance as on 31st March, 2022:

Cpening stock ¥ 46 300 Purchases ¥ 125300
Sales 277700 Debtors T53.000
Creditors €52 800 BillsPayable ¥10,000
Trade Expenses ¥70 000 Salaries T75 000
Capital €99 300 Drawings T 27 200
Interest Received ¥3200 Cash ¥39.100
additionalinformations.

{1  Goods purchases from Vidhi Soni on credit for
T4 600 but no record was made for it.

(i)  The sales book was over costby T2 700.
(i) The cash bookwasundercosthy ¥ 3 800

F - 3003 P.T.0.

(6]

F@/OR

Frfoiaa srfedt & qor & fow smavas wee=

yiafted’ sifsmw:

(i) 500 % FITE 6 HIET SH1ST S o1 0 & 18% I &
¥ (farera | 700 T ) SR & @ T ety
& fo famren s fore qooat + s wiafte =&
T 2

(i) 3,000 TH BTER g e e ufer oo @
& fmem (3fae) & form & i8)

(iii) $5O AT WA @I 4T 40 T HH AT T

(iv) TEIET &1 450 ¥ T T fa5g] UeTd & @ 7 250
2 faferar (3fae) fosdr |

(v) U ORI ¥ 500 T &1 Wi WUEH 590 @l o
5,000 T FHTHIcTT (ihige) &Y f&d T

Make necessary rectifying entries in respect of the
following errors:

(1) Goodscost¥500plusIGST @ 18% (Sale price
T 700) taken away hythe proprietor for personal
use butno enfry has been made in the book.

(i)  Furniture purchased for ¥ 3 000 and the amount
of which was dehited to purchasesAccount .

F-3003
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(i) The total of Purchase Return Accountwas under
cost by ¥ 40

{w) ¥ 450 paidto Chanchal but had been debited to
Palak's Accountas ¥ 250

(v} Goodspurchasedfrom a merchantfor® 500 had
been posted to the credit of his account as

25,000
gEE - 3/Unit -3

1 3leT, 2021 Y quT B YT i 99 Hae B & ¢

T @ % 2,80,000

& & fow s @ Z1,08,500

1 AT, 2021 @ OF WA S 1 FE, 2019 B
42,000 2 # o5 @ TR &Y, 17,500 T 9 S vF £ g
UH A UH & Uelldh 9% @1 8¥ o FSdT ddl Tl aur
3o T 1 wes =g w9l 11,200 26 9 51 o9 &
T OF 1. 092, Uld 9% @ a¥ ¥ AeHd Eler
T

aul IF AN W 15% afiE B aX ¥ FIEIT (F1)
sraferiRae w2 o S gRed 31 W @Y a8 et
21 af 2021-22 & fore gt <@ awn g & fore smaie
@ dar i) gus afaRes 9= & fwa &
ust (FFer) wiate aifsre|

F - 3003 P.T.0.

(81

Following balances appearin the books ofVarsha as
on 1stApnil, 2021:

Machinery Account +2.80.000
Provision for Depreciation Account +1,08 500

On 1stJuly, 2021 Amachinery which was purchased
on 1stAprl, 2019 for ¥ 42 000 was sold for ¥ 17 500
plus CGST and 3GST @ 9% each and on the same
date another machinerywas purchased for ¥ 11 200
plus CGST and SGST @ 9% each.

“Yarsha charges depreciation @ 15% per annum on
original cost method and closesits book on31st March,
every year. Prepare Machinery Account and Provision
for Depreciation Accountforthe year 2021-22. Also,
pass journal entries for the sale of machinery.

FE/OR

wife Ud e e J9T 79 - o @l W adr Heal
£? WY U Uil vd e EiaT @ 36T Haie & #g-
= @ # e uRalad &ar?

What is the difference between Receipis and
Payments Account with Income and Expenditure
Account? How can you convert the Receipts and
FPayments Account into Income and Expenditure
Account of the same period?

F-3003
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ETE - 4/Unit -4

4, 1 3e, 2019 BN TR HICH TAHEE A TH HIEDR

e &7 fovea = U@ W 89| Wie] $R @ A6
e 5,50,000 27 3R g W A S v € 49,500

¥ T 31T 31 O £ 49,500 T 1| YA AR
femar mam:

2,40,513 % (31 o9 &f 9fEd) SevE W EER &9
Ty f&a man e 9 e v@iE 1,50,000 ¥ @ A
At faveat o ufa a9 31 A &1 v man

fortmar et g i o 5% arfte @ ax ¥ & foran
ST &I

qeritar ey fefies @ ' o 3TETa® @, TTH-
Bﬁﬁa?mﬁﬂmﬁaﬂmt

Cin 1st April, 2019, Tulsita Motors Limited sold a mo-
tor carto Riya on installment payment system. The
cash price of the motor car was ¥5 50,000 and on
this¥ 49 500 CGST and ¥ 49 500 IGST was payahle
payment made asfollows¥2 40513 (including GST)
wastobe paid on signing the agreement and the bal
ance inthree instalment of 150 000 each on 31st
March each year. Interestischarged by the selling com-
pany @ 5% p.a. Showthe necessary ledger accounts
statement of Profit & loss and Balance sheet in the
books of Tulsita Motors Limited.

F - 3003 P.T.0.

(101

FHE/OR

o ®g ugly il e =g vefa & 70 o
T

(i) denfoes giemior &, q
(i) TREEA & geET o

FPointoutthe difference between Hire Purchase sys-
tem and instalment purchase system.

()  Fromthe legalpoint ofview, and

(i) Fromthe accounting point of view.
&R - WUnit -V

et BH & oo & @ g &2

e W & S FeT HEvas Ta (Fer) wiaftedt
gife|

Whatis meantby dissolution of partnership firm? Give
necessary journal entries to be made on dissolution.

FE/OR

31 ATE, 2022 &1 BH Had U 0UE &1 99T Uad 0US a1d

& foed frargar &

F-3003
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Tt o B e et € 80,000 FrafRa & wd afk v
WTHER 1 Yot st e e A & St 3 2
3 :2 2 & B § g @ ufonad % &
T | @ ! ¥ AR e (i) wfaftedt
HITAE T2 T TS BH Bl faear ase|

The Balance sheetsof Mis A& B and X & Y as on
31st March 2022 were as under;

[11]

T oos | TEw v oS | vaw
aTed at vos | o &t g
g EIE]
4 4 4 4
fame d=E | 20000 |25000 |4 # T | s600 | 6700
AN THRD | 5000 - | 20400 |18300
gt fafaer 272w [15000 |20000
T 40000 - |mem 4000 | 5000

|t 20000 - |sE= 40000
o521 - |24000 | faf=im - 115000

a - |16000

85000 | 65000 85000 | 65000

1 3te, 2022 @ EFT BAT 7 TSSO B & U
feran| 5 3agva & fow a7 ag s man & At e &
FOT T YA & f&ar s o Heni vaw e a1 &
fafram 2 v arr 781 foe 7 ded e oo @Y
e T 8,000 T2 T e UUE 9719 & e € 10,000
Freffa o min dwef v wos & & w9 250,000
R et TehalT T ifcheT 33T ¥4 2 4,000 ¥ 318®
- e aTEn TAT| A1 WA & 5ad W01 & o0 5%
== o |

F - 3003 P.T.0.

Liahilities AMEB HEY | Assets MEB| HAY
4 4 4 T
Sundry Cash at
Creditors | 20,000 | 25,000 | Bank 5,600 6,700
Loan from Stock 20,400 |18,300
Mrs ‘A 5,000 - | Sunday
Capitals Debtors 16000120000
A- 40,000 - | Furniture 4,000 5,000
B- 20,000 - | Building 40,000
X - | 24,000 | Investment - 115,000
b - | 16,000
85,000 | 65,000 85,000 | 65,000
F-3003
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They decided to amalgamate on 1st April 2022, For
this purpose it was agreed that Mrs. A’s Loan should
be repaid and that the investment of M/s X & Y be not
taken over by the new firm. Goodwill of M/sA & Bwas
fixed at TE000 and that of Mfs X & Y at T10,000.
Building of M/s A& B were revalued at €50 000 but
the stock of M/s A & B was found over valued by
T4 000 Aprovision of 5% was created for had debis
of boththe firms. The total capital of the new firmwas
to be ¥ 80 000 and the capital of each partnerwasto
be in his profit sharing ratio whichwastobe 3:2:3:

2 Goodwill account in the new firmwas to be written
off.

Malke initial journal entries in the books of the new firm

and prepare the balance sheet ofthe newly organized
firm.

F - 3003
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B.Com. (Part |) Examination, 2022
(New Course)
(Group -1)
PAPER SECOND
BEUSINESS COMMUNICATION

Time : Three Hours| [Maximum Marks: 75

Ae - Tl ot we=l & IR e veds 3o | ve wee
&1 i 21 |4 we=l & 3w g &)

MNote : Attempt all the five questions. One questions
from each unit is compulsory. All questions
carry equal marks.

BT - 1/ Unit -1

1. TGS TRNU 391 &7 IS TH # saas
TaE-1 5 agd W & SRl & faas S|

P.T.O.

[2]

Whatis business communication and also discuss the
factors responsible for the growing importance of
business communicationin modermn time.

Jai/ OR

e faveiaor qor &2 §9E TET Hucd a1 87 U8 Uh
A | 69 yeR "Eayef #2

What is SWOT Analysis? What are its main
compaonents? How itis useful in business®?

TS - Il / Unit - 11

. giturarie 9 sEtoaiG e ¥ s d@r

27 sitvarite aen sFivaiie TEoT § s W S|

What do you mean by formal and informal communi-
cation? Distinguish between formal and informal
communication.

JEi/ OR

wrfes faar-famst & aon sifimm &2 anfes faax-
fomet & F2vat qon st # == S|

What do you mean by Group discussion? Explain the
purpose and advantages of a group discussion.

F-3004
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18 - 11/ Unit- 11l

3. WHE Eaeiae vAl @ W e @ e S|

TS AEHS-UF Sl EXa=T &l 95|

Explain the main characteristics of an effective
business letters. Describe the structure of a business
|etter.

JeEr/ OR

HIUA HUAT DTG Hrerd fdl 317 37 WIE T
wHidRa #< foar 21 59 aRad= &t g &g oo
eI B U Tl uF feifae|

¥ou hawve shifted your business office to some other

good locality. Write a circular letter to your customers
for this change.

&1 - IV/ Unit-IV

. wifEm® s @ 87 Hifas wgdieT & a
fagra &7 37 gca! & aaTed 311 RHEROT @ e
B E|

VWhatis oral presentation? What are the principles of

oral presentation? Explain different factors which
effects presentation.

F- 3004 P.T.O.

[4]

A/ OR

TAE0T ¥ T AT 2?7 A0 AT S uichar &l
qui= Hifw)

What is meant by Survey? Describe the process of
canducting survey.

B&TE - V/ Unit -V

. Wil TaN @97 £7 SUH S0 v WERT & auia

HifTe|

What is non-verbal communication? Explain its fac-
tors and types.

Hyal/ OR
S-BEY 1 27 9 fobo- T &2 F91 98 AE9iis
gfte @ Wit &7 saemse|

Whatis E-commerce? What are its forms? s it safe
the viewpoint of business? Explain.

F-3004
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14 15

3, = =3

RollMo. . Total Printed Pages- 12 4 0
Ty %y

Solve the following reciprocal equations:

F -3005
i 5 14 13
) '

B.Com. (Part - 1) Examination, 2022

(New Course)
st ® @ 10 3o, ¢ Rt ok 2 ! e
BUSINESS MATHEMATICS Bt iR 2 270 ¢ Al v Tou B ol < et
B HEE & aUEs 3R U i & Aoigd 3 wEm
- _ _ @I AR & avE] @, a1 10 g9, 12 BT, 16
Time : Three Hours] (M aximuim Marks: 73 S & HEI@ M e

The amount of combined wages of 10 men, &

iz ;i O weEl & IR Si5e| s 5o A v wee
! 2 women and 2 boysis¥ 270. Ifthe wagesof one
& B FfErd 21w vt & s v E
man equals the wages of two women and wages

of one woman equalsthe wages of 3 boys, find

Note : Attempt all the five questions. One question
the combined wages of 10 men, 12 women and

from each unit is compulsory. All questions

carry equal marks. 16 boys.
BFIE - 1/ Unit -1 e/ OR
1. (31) Frafeias sgmes w0l @1 & Site- T Sidex 30 AT i Al 31 3ER # &9-

J-&H 4,000 3B fFafiF, 50 = @@= dam

P.T.0. F-3005
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AT 1,400 TB1S el o @I gaHgl aar 21 & SO - 2 / Unit - 2
i e A 3k B 3ueer €, e e maer
2 4 TR0 ¥ 3 Uil 3 21 A B 7S 318 o 200
o faeiiie, 1 5@ |Ha mau aar 40 367 4 1 21727
Heirt 21 B ®f T HE W 100 B fHertie,
2 TS WS FaUT AT 40 SHE e 21 A
I FETTH U907 1 B o 010 Teelds To o

2. (H)EHIA -

2
21-13(2 o 1{|1
2 1 0

feoertt gapmel ot anfee? g0 W & Simplify-

e At & Tt g fafee vl wwwan @

e faftr @ ga SifEw) 4 a 2][2]
A doctor advises his patient to take such a diet U I_I]I;l [1] [1] 11

every day. Which contains atleast4 000 units of
vitamins, 50 units of minerals and 1,400 units of 5 8
calories. Twofoods ' and ‘B are available at a @) fo-

cost of ¥4 and ¥ 3 per unit respectively. Each :

unit of A contains 200 unit of vitamins, 1 unit of a” +1  ab ac
minerals and 40 units of calories. Each unit of 'B' i el W l=liatantia
contains 100 units of vitamins, 2 units of 3

B be "+l

minerals and 40 units of calories. How many units
of each ofthe food, the patient should take to get
the required nutrition? Write the mathematical
formulation of linear programming to solve this
problem and solve this problem graphically. &’ i1 ab ac

ab b° 1 be |-1:a -

Prove that:

8cC be e” +1

F-3005 P.1.0. F-3005



51
eran/ OR
(31) TGOS WROT ST FETTdT ¥ el al-

1
(4.10y° x@3. "

Simplify using log tables:

1
(4.10)° @7

(@) wgoTES Rl @ faar 3w 5 frg i

10 25 g1
Tlog——2lopg— -3log— —log2
gS' E24 gEIZI B

Without using logarithmic table, prove that:

10 25 81
T T P, .
Mg —< 08y, T 0Bgy T OB

B®ME - 3/ Unit - 3

3. (31) 74500 &7 5% ad® 2T & 29 IR 2019 H 8 |
2020 T ® ST 3 DI |

Calculate the interest @ 5% per annum on

F- 3005 P.T.0.

(d)

(31)

(d)

F-3005

(6]

T 4500 from 29® August, 2019 to 8% March 2020.

% wfth U+ a1 Qi1 & &, ST HHe 16 3T 18
ad & &, W0 39,030 TH YR afeT argal & 7 4%
IS TP IG ST Bl ax W af-raiitara 37 afery
¥ 3 EFT B 39 TG 7E § 21 79 B 3T W @Y,
A T e 38 g9 &2 gt afgee?

A man desires to distribute ¥39 030 amongst
his two sons who are 16 and 18 years old
respectively, in such a waythatthe sums invested
@ 4% per annum. Compound interest will give
the same amount to both of them when they
attain the age of 21. How should he divide the
sum?

Jegan/ OR

T d% ¥ @a @ aX 8% Wikiay Idd 7 9
FASTT @ A &1 17 o a1 T 32,000 W T
& fore w1 wftrad fonet oodr s @ anfaee

The rate of interestin a bank is8% per annum
compounded continuously. What should | invest
peryearto get ¥ 32000 atthe end of 17 years?

UE WEI Wil U 80,000 = amar € a3k



4. (H)

F- 3005

[7]

FHE! JATT oiia 20 a9 2| 7 & gaeH &
foe Fiafes 3wa! et | 25,000 firer ¥l o
giver @9 @1 Fmior s s &1 afE siem B
¥ wferd e 9% wiay Tgle sasT Aot e &
a1, U a9 JUeTET @ TS eI & el &
HAf=Tae Mo Bt

Armachine cost T80 000 and its effective life is
estimated to be 20 years. Asinking fund is cre-
ated for replacing the machine atthe end of ifs
life time when its scrap realises a sumof rupees
five thousand only. Calculate to the nearest hun-
dred of rupees, the amountwhich should be pro-
vided every year forthe sinking fund, if it accu-
mulates at 9% per annum compounded annu-
ally.

5®18 - 4 / Unit -4

vF 0T A # g 3R o & aree 5 2 # s
IR 6 B ¥ 290 30 8 : 5 &) &t adHl %
TRt @ ca e e # firemar e & go
3R U @ 3O 9 ¢ 4 8 P

Milk and water are mixed in a vessel Ain the
ratio5:2 andin avesselBintheratio of8:5.In

P.T.0.

(d)

(3)

F-3005

(81

what ratio should quantities be taken from the
two vessels so as to form a mixture in which milk
andwaterwill be inthe ratio of 9: 47

U &l & WA (aend| o1 31 &1 3itad 15 a9
ol ®en # W 7 ekt 4 vaw foan e
I HHEI:" 20 @Y, 25 I 71 30 T &1 Y HaEn
& wwe faanfdat & amg @ sitea sgax 15 @
4 WTE €1 S, A1 el & U & faenfiat &l s
1A Hife|

The average age of all the students of a class
was 15 years. Three new studentswere admit-
ted who were of 20 years, 25 years and 30 years.
The average age of all the studentsincreased to
15 years and 4 months. Find the number of
students in the class prior to the admission of
three new students.

FEan/ OR

2 500 fhal ¥ W Hael 60% i god ol Jed &,
Tig g ¥ 30% , URT ATTHE o 32% , 9201 919 g

3relt ¥ gt &, srerenRait & e sna il

Cut of 2500 people, only60% have the saving
habit, if 30% save with banlk, 32% with post of-
fice andrest with shares than find the number of
shareholders.



(@) = Aol @ sitea s Sifee-

30 and above

DT g
5 ¥4 & 7
10 ¥ &A 20
5-15 38
15 3T 3iftm 55
20-25 20
25 3T 3t 5
30 3R Frftrm 1
Calculate average fromthe following table:
Size Frequency
lessthan5 7
lessthan 10 20
5-15 38
15 and above 55
20-25 20
25 and above 5

1

F- 3005

P.T.0.

(101

g®IE - 5/ Unit -5

5. (37) v e ve Fieaa a9 agn fawt w amaRa

(d)

F-3005

e FFifeea sie we aaT & Il ag € 1,71,000
T 22,17,000 B &1 HEFT B FINAR [d! 0
% 11,300 TT 2 13,600 T HeT TRATHE I el
2 T 395 HAEH @ e a9 AT da S T
HifoTe|

A salesman gets a fixed salary plus certain per-
centage commission based on the sales. Ifhe
get atotal remuneration of ¥ 11 300 and ¥ 13 500
on the consecutive salesin two months amount-
ingto¥1 71,000 and T2 17 000 then calculate

the rate of his commission and monthly salary.

T, a.07.21. ufeii §139, 3R 39 et
& 3fFd e W 20% TIRS TER T4T 5%
THE HUER A #| FE TEd B 1% HHBR
e 41 &1 uge &, TR off 3 30% &1 g A
B #| gasy 6 ava ) e wfaea agex
sifpa ewr FreniRa fsar mar &2



(H)

()

F- 3005

1]

SBPD Publishing House, Agra allows on their
publications 20% trade and 5% cash discount.
They haveto pay 11% royalty to the author. After
this, they get a net profit of 30%. Find at what
more percentage of the cost, the list price were

marked.
|/ OR

U TN U Y B &1 IR X 4,000 ¥ S 81
g 38 T 5,000 ¥ &= o1 3X ATV GEEN BT @
2/3 BTl A B - Ted s

Aperson sells a machine for ¥ £ 000 and losses
something. Had he sold it for 5,000 his gain
would have been 2/3 of the former loss; Find the

cost price of the machine.

U BIETUHY - BT i 12 wiedr 2 25 # #iK
20 wiadi T 35 # & &1 WeaTa foaar i 39@ oy

FHIE" T5 AR T7 &1 T10 & @H Ui B B
fore 3% 30 wiedl fsam & & anfee?

P.T.0.

F-3005

[12]

A photographer offered to supply 12 copies of
photograph for ¥ 25 and 20 copies for T35 and
his profitsare €5 and ¥ 7 respectively. Forwhat
sum should be supply 30 copiesin orderto make

aprofitof T107
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B.Com. (Part |) Examination, 2022
(New Course)
(Group-ll)
PAPER SECOND
BUSINESS REGULATORY FRAMEWORK

Time : Three Hours| [Maximum Marks: 75

e - a4l dfe weAl & IR e veds 3o | vs v
&< ifrard 2wt wel & 3 awe )

MNote : Attempt all the five questions. One question
from each unit is compulsory. All question
carry equal marks.

51 - 1/ Unit-1

1. "wiawe & 3rvma § Tevd oeve & 8 # | 5 o
I FHHAN! g 59 HUTR] B WIATERVT AT BIfAE |

P.T.O.

[2]

“All agreements are void in the absence of an agree-
ment”. While explaining this law explain its exception
with illustrations.

HEal/ OR

Usif-raw ¥ &g ¥ 3 a9 geHd 22 O fegme= ¥
e v fir=1 &7 ®ue & wwral &7 avl= Sifsw|

What doyou mean by fraud in law? How does it differ
from misrepresentation? Explain the effects of fraud.

EHE - 2/ Unit-2

. 3FEY & @ved ¥ fifsd R $i o JuERT

guig @ifse| Fivl afa a gvs 4 =R we Sifw)

Discuss the remedies available to the aggrieved party
in a breach of contract. Distinguish between liquidated
damages and penalty.

JEi/ OR

frém & afvamer dfsw sk Fendt v Feémfear &
Hocd 0g HUER Faee|

Define bailment and state the duties and rights of the
bailor and bailee.

F-3006



(3]

51 - 3/Unit-3

3. FfEaa o sffEad v @ oo s &7 G oRRafaar

7 2T @ AT uY faeher & aremn it e g 22

What is meant by ascertained and unascertained
goods? Underwhat circumstances a buyer gets the
better title than the seller?

Jear/ OR

e R fada & 9 & geEd 27 e i §
watta ot & faga=n Sifse)

VWhat do you mean by sale by auction? Discuss the
rules regarding auction sale.

51 - 4/ Unit-4
. wegfel @ &7 fafema-wmen ovg-ua &t aun # e &
fore wegfr v aTaEas BT 2

What is meant by presentment? When presentment
Is unnecessary in case of negotiable instrument?

Jyar/ OR

I & 1@ @l @ 37 #7 TEie B R Thd 87
4 Wi &I adEe|

F-3006 P.T.O.

[4]

What is meant by crossing of a cheque? Who can
Cross a cheque? State its kinds.

BT - 5/ Unit -5

. FuHiR TReT st & e T s Fan

27 3 Tod HraeT ve freel & Faro & et
fafér &1 avi= Sifse|

What is Mational Commission on Consumer Protec-

tion Act? Describe its constitution, scope and proce-
dure of disposal of complaints.

HYa1/OR

Hifira aftree TREER @07 & ° i afte aEER! e
Hre e AEEr] o Hed 3iaT Bifsel

What is Limited Liability Partnership? Distinguish
between a Limited Liability Partnership and Unlimited
Liability Partnership.

F-3006
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F-3007

B.Com. (Part |) Examination, 2022
(New Course)
(Group -1ll)
PAPER FIRST
Business Environment

Time : Three Hours| [Maximum Marks: 75

Tz : |4 dre ve=l & o= | udh ue=l & s 'mE
#l

Note : Attempt all the five questions. All question
carry equal marks.

51 - 1/ Unit-1
1. SHTEETe TaTaLoT @i TR Sif5e| S FaT v
e & TaFee|

P.T.O.

[2]

Define Business Environment. Explain its character-
istics and importance.

HEl/ OR

fTamamaddr mmed A smamdr as
W1 Bl THHATSE|

What is the meaning of finance? What is the differ-
ence between Money and Finance? Explain the types
of finance.

BFE - 2/ Unit-2

. WA o UTHIT TR & T BINUT 27 Ud # frefear

& gTT® @ by algl of Heba &7

What are the causes of rural poverty in India? How
can we break the vicious circle of poverty inIndia?

JEai/ OR

NI wToTaT | 310 T THE &7 $HE WE BT
@I TA13C U4 gUR & 30 Y gHE1se

What do you understand by Industrial Sickness?
Explain its causes and remedial measures.

F-3007
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EE1E - 3/Unit-3

3. ¥IRd A fomdieor & Fon ewa & fapdiet & fafi=

YS! &l Ireid sifaw]

VWhat are the objectives of demonetisation in India?
Write the various effects of demonetisation.

3@/ OR

fsiteTor | 3y o gued 87 9Ra ¥ FEien &
IRa &= T aaal @ S Sifsw)

VWhat doyou understand by Privatization? Discuss the
factors which effect privatization in India.

EIE - 4/ Unit-4

. 9NEE disEt # O SaeEl ©f Saawn oW U
HIe =T fewutt ferfiae |

WWrite a critical note on the mobilization of financial
resources for Indian plans.

J2El/ OR
B & FHera el @ JeeigE, @8 vd HUe Sadt
ot =1 gasE|

Describe the rules and requlation of Fema in connec-
tion with contravention, penalties and appeal.

F-3007 P.T.O.

[4]

&1 - 5/ Unit-5

5. e (GATT) & & sifimma &7 gad va v fagrl

&1 Ui Hifaw | 5aes fafir= amt 2R g snsres &
1t aui= Fifse|

Whatis meant by GATT? Discuss its objectives and
principles. Explain its different trade round and criti-
cism also.

H¥4ar/ OR

fawa d% & Rvdl v Tl & avf= Fifswl 97 vra
@1 fthe wBR mrTfaa far 27

Describe the objectives and functions of World Bank.
Inwhatways it has benefitted India?

F-3007
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F -3008
B.Com. (Part - 1) Examination, 2022
(NEW COURSE)
GROUP - 11l

PAPER SECOND
BUSINESS ECONOMICS

Time : Three Hours] [ aximuom Marks: 73

dre: | ofe weel & IR | wede g 9 v weE
T Ffard 21 | vl & i A #

Note: Attempt all the five questions. One question
from each unit is compulsory. All question
carry equal marks.

&1 - 1/Unit - 1

1. 5| v =e & fom 2 silv i IR & srasadar
2 2, 3 usR aefere & dwtaw segga & fow
e e 3mme= ST wonferal smavas €1 awsEe

P.T.0.

(2]

Induction and deduction are both needed for scien-
fific thought asthe right and left foot are both needed
forwalking'. Discuss.

FE/0R

TH-THI YD 1w a1 st wgte Fam @
27 EEIRS siia- H 54d Hacd U< Wl Siete|

Whatis law of Equi-marginal utility or law of maximum
satisfaction? Throw light on its practical importance.

T - 2/Unit - 2

2. Hm & o o sarEm Sifee| Ji 3T g & A @
AR Tl gl 80 3 uRfefodl 1 aarga o wm
ran F B 3R gedr 2

Explain the law of demand. Why do demand Curves
slope downwards to the right? Explain the circum-

stancesin which demand curves slope upwards.
FE/0OR

T @ Fr @ R £1TA T i & d @ wafed
T ITe1 Uedl &I aase|

Define elasticity of demand and describe the factors

effecting the elasticity of demand.

F-3008



3]

& - 3/Unit -3

3. HHIcED ad o WY a9 THHd & GHIdES ab Bl

faergan? aarze|
What do you mean by lso - Product Curve? State the
characteristics of [so - Product Curve.

Jai/OR
ity & wierher ¥ amues o S 27 sue Fee
@l 1 aule BifoTe deT ded §E Wiakal & i M &
HROT FaTE]
What do you mean by returnsto scale? Describe its

determining elements and state the causes of
operations of increasing returns to scale.

& - 4/Unit -4
. "IN 4T a1t & aReE &1 59 SU S e
Pifere 3it quf wicranfira sil variter o 3ex fafae

"Monopolistis a king without crown.” Explain this state-
ment and write the difference between perfect com-
petition and monopoly.

3AIOR
AT, WA o5 Sienta Hod T Jee @ e

F -3008 P.T.0.

(4]

4 g 27 foww 3 Tmsmer|

How are price and output determined under
oligopolistic competition? Explain in detail.

BT - 5/Unit -5

. Taawor & S SaEdar Rigid & e EeS EreE

G

Explain critically the marginal productivity theary of
distribution.

FE/OR

T & gfie frgia @ g St Raet &
A fagia ¥ g8 few var fie 22

Discuss the modern theory of Rent. How does it differ

from the Recardian theory of Rent?

F-3008
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F - 3011

B.Com. (Part -1, Il & Il

Examination, 2022
(New/Old Course)

Environm ental Studies and Human Rights

Time : Three Hours| [Maximum Marks: 75
HM-1/ Partl
die:  we w1 Jfard & 3k 25 37w @ 2

MNote: Question no.1 is compulsory and carries 25
marks.

1. Frafefes & 9 fed ofg & 3ox dam o fEfar|
(i) e Hame=
(i) e B & nuE
(iil) UTE" FFHAT
(iv) & o=

P.T.O.

[2]

(v) HHOET qa-e-

(vi) T e
(vii) TTE HTeERT @ JraeaRom
(viil) 3/=3 51-F 3R 45

(ix) WRET Siam & e

Write brief answers of any five of the following-
(1) Water Resources

(ii) Effects of modernAgriculture

(iii) PlantSuccession

(iv) Project Tiger

(v] Disaster Management

(vi) Walue Education

(vii) Conceptof Human Rights

(will) Article 51A and 45

(i) Preamble of Indian Constitution

F - 3011



(3]

-1l / Partll

e U ST | U WI o1 IR aifsTe | e e 10
3T T &I

Note: Attempt one question from each unit. Each
gquestion carries 10 marks.

S&TE - I/Unit - |

2. a1 Tver & Hia W & UUaLoT U a9 vhE 279
T

What is the effect of excessive mining of mineral
wealth on the environment? Explain.

HUGI'OR
frafafes # & fedl 2 w dfing Ewfort fafa-
(A) W TRTET & ERET § 3TH e &Y
Yt
(B} F11 ® Ggdr NaTawar
(c) fowe @ Tw=m
Write short notes on any two of the following-

(A) Raole of individual in consenvation of natural
Mesources

F- 3011 P.T.0.

[4]

(B) Growing Energy Meeds

(C) World food problems

518 - I/Unit- I

. WRTIfc! o= @ TR Hifse gor R da

B AT HT i S|

Define ecosystem and describe the structure of eco-
system.

JEIOR
fFrrafertas % 9 fisdl &t vx wféra fewfirat fafae)
(&) =g fafaear & q8e
(B) A & TE T FH
(C) 3FERIET Td T Taiawoia Seems
Write short notes on any two of the following-
(A) Importance of Biodiversity
(B} MajorMational Parks of India

(C) Intermational and National Environmental
Organizations

F - 3011
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T8 - 3/Unit-3

4. "VEEYT @ JaH a1 FavT § a |t o 9

UX b o feiran |

Write a note on the role of common man in prevention

or contral of poliution.
FUEIOR
FrafafEa # 4 i @ w dféng Rufowt fofae-
(A) wiem afaal & s
(B) Freen faweie v uRar seamoT asn
(C) UTTaRvl @ HHg Tl H AT St @ it
Write short nates on any twe of the follawing-
(A) Problems of slums

(B) Population Explosion and family welfare

programme

(C) Role of Information Technology in Environment

and Human health

F-3011 P.T.0.

[E]

F1E - 4/Unit -4

5. HHg HiteR & e famre @ avia &t

Describe the historical development of human rights.
HTA'OR

fepfofas & @ fedf &) w wftna fewfor fafar-

(A) wieenst & fawg 29 o fodel & d@ay & avf=
g

(B) W16 HedTvT BRIHAT H TaHd! TaAT Hi
it T aN

(C) “amer fEren Sifa @ fan oz witre fewoh ford

Write short notes on any two of the fallowing-

(A) Briefly describe the discrimination against
waormen

(B) Explainthe role of voluntary organizations in
childwelfare programs

(C) Write a short note on child education policy
and education.

F - 3011
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&8 - 5/Unit-5

6. WIT AFE HHER AT & oA, e o gl
T Bl @ R & avfa |

Describe in detail the constitution, members appoint
ment and functions of the National Human Rights Com-
mission.

HUEVOR
FrfafEa # 4 el @ W dfira femfor fafar|
(A) e AR® & Ui @ aviE S|
(B) =T HEE AR 3mam & faag o dag o
TS|
(C) HHE SR =T
Write short nates an ﬂﬂ'ftWG DmefCI”CIWiHQ—

(&) Describe the qualities of a good citizen

(B) Briefly explain about state Human Rights
Cammission

(C) Human Rights Court

F - 3011



